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(A) [Tl PR

1. 5x2a 2, 6~ 234 3. 4(5b9)

4. K2 5. a?” a 6 YY)

T yxyxyt 8 aa a 9. (HB)D®)

10.  2a®a 11, 4p?” 4b? 12, 3x(3%)

13 3x2x 4. ap 7 15. 6Z7'(57)

16.  3x8x8x8X 17. 2% 2 27 2y 18. (33D (3A)(3¥)

19.  abPeab® 20. X T XY 21, (a’®’) (@) (ab)

22, xyPexy? 23 2%y 3% Xy 24.  (4ab?)(2a’h?)(3a’h)

25, xRy*KHBXN 26. Ay 57 23V 27.  (2a%?)(3a’?)(3a%h%)
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Simplify the following algebraic expressions:

(B)

1. (23 2 (- a2 3 Py
= = YO ) )(

4, a_8 5. 2b2 6. ab®

al 12b° a’b?

12axy 3%y 9 (4xy), (9
3ay 12y
10. (2a3b2)(5ab) 11. (E)(ﬁ) 12. (3Xy)( )
572

12ab®
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BY=C PV (™ (RIB-BAEpIR)

i) =l 7B H i Eati)
1 OX + 3x 2. Oxy + 3xy
3. 15y + 7y 4. 15xy + 7xy
5. 7a+ 5a 6. 9ab + 4ab
7. 15y°- 9y 8. 15y°- 9y
9. 5x - 15x 10. 21ab - 30ab
11. 13xy - 19xy 12. 7xy 2- 9%y
18, by 3x 14. -14ab- 8ab
15 ox+3x+12x+2x 16. Oxy + 3xy + 3Xy + 8xy
17. 18.

5x- 15x + 11x - 16x

-5x- 3x- 11x




19.

20.

EBX+7+4x+9= -Bx- 7-4x- 9=
2l ga- 3p+5a+7b 22 13a+11b- 8a+9b
23 157+ Ty’ + 15xy + Txy 24, xy + 3¢ + 2xy + 8%
25, -2¢+x+3- 6X 26. X*- 3x- 12x- 25X
27.  (5x+14) + (8x +2) 28. (5x + 3) + (4x - 9)
29. (9% - 2y) + (x- 9y) 30. (2x- 3¢) + (9% - X)
3L (7a+5)- (4a+3) 32. (3a+10b) - (5a- 7b)
3. (- 3%)- (12x+25%) 34. (4xy - 8y) - (x- xy)
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(A) FLBET T PREl=" (Expand the following algebraic expressions:)
1. 3(x+y) 2. 4(p-09 3. 3(x+2y)
= = =3( )+3( )
4. 4(2p- 50) 5. -3(x+2y) 6. 6(¢+3X)
=4( )-4( ) =(-3( )+(-3(
7304 2) 8. Lax+ey) 0.  2(6x+9)
2 3
1 1
_E( )+E( )
10. X* (x+ 3) 11. 2x (X + 2y) 12. X2 (2¢- 3)
=X ( )+X( ) =C ) )-C ) )
13. - (3x+4y) 14. -2 (3x- 4y) 15. - 2x(3x- 4y)
=-2( )-(29(C )
16. 3(x+2y- 4) 17. 23 (- ¥ +3x- 1) 18. -3X (X +xy- V)

= (39( )+ ¢3( )
- (-3()
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(B) E T Fege=t (Simplify the following algebraic expressions:)
19. 3(x+2y)+2(2x-Yy) 20. 4(x- 3y)+6(x+2y)
21. 4a+3a(2a- 1) 22, 3x- 2(x+3)
23. 2x(x- 3)+4(x- 3) 24, 2Xx(X - 5x)- 3(¥+2)
©
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Exercise 2E  Solving Equations
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Name Class No. Date of Grade
Submission
Solve the following equations:
1. Xx+4=18 2. X-9=12 3. X+9=3
4, 3x=12 5. 4x =10 6. -2x=10
7. 1x=5 8. % =15 9. % = -4
2 5 6

10. 3x+4=19 11. 2x- 5=11 12. -4x- 11=25

3=
13. %x +2=5 14. gx— 4=14 15. gx+14=4
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16. 13- x=6 17.  20- 3x=5 P
3
19,  2(4x- 1)=10 20. 3(1-x)=24 21 3(1-x)=2
2 X*l_gg 23, MW-6_g 20, 2(x-11)=6
2 3 5
25 5(2x+5)- 11=- 36 6 X2 e




Exercise 2F Solving Equations

HP el ﬁl@ﬁhgfr

Name Class No. Date of Grade
Submission
Solve the following equations:
1. 4x + 3x =35 2. 5x +8 =3x +18
3. 1x =£x+2 4. X+ 3= Ex
2 3 5
5. (3x+8) +6x=44 6. 7y- 10=3y- 26
7. 4(2x-5)=2x- 2 8. 6(X-2)+3(Xx+8)=4(x+3)
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9. 5x- 3(x+3)=11 10. 3X-5(x-4)=50
5x - [ ]=11
11. 2(x-9)-3(3-2X=5 12 X-5_1+X
' 2 4

X-5 1+ X

A — —1=44——
A 5 1=44 4]

13 X 3.3+l 14, 9- X Ly=5

3 4 3
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